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o Barriersto Entry

< A monopoly is the sole supplier of a
product with no close substitutes

% The most important characteristic of a
monopolized market is barriers to entry

& Barriers to entry are restrictions on the
entry of new firms into an industry
=2 Legal restrictions
== Economies of scale
=2 Control of an essential resource




o Legal Restrictions

% One way to prevent new firms from
entering a market is to make entry
illegal

¢ Patents (BLfIJ##), licenses, and other
legal restrictions (25 ,5#2F) imposed by
the government provide some
producers with legal protection against
competition

o Patent and | nvention | ncentives

¢ A patent awards an inventor the
exclusive right to produce a good
or service for 20 years

¢ Patent laws

= Encourage inventors to develop new
products/ processes

= Provide the stimulus to turn an
Invention into a marketable product.




° Licenses and other Entry Restrictions

¢ Governments often award a single firm
the exclusive right to supply a particular
good or service

= Federal licensing of Broadcast TV and radio
rights

= State licensing of hospitals
@ Cable TV and electricity on local level

< FRE: BB P (ERE L)

o Economies of Scale

% A monopoly emerges naturally
=2 EXperiences economies of scale

@ downward-sloping, long-run average cost
curve

% A single firm can supply market demand
at a lower average cost than could two
or more firms at smaller rates of output

@ See next slide




o Exhibit 1. Economies of Scale asa Barrier to Entry

Market demand is not great
enough to permit more
firmsto achieve economies
of scale

= A single firm will emerge
from the competitive
process asthe sole seller

Cost per unit

Long-run
average cost

Quantity per period

* Natural Monopoly

% Because such a monopoly emerges from
the nature of costs, it is called a natural
monopoly

¢ A new entrant cannot sell enough
output to experience the economies of
scale enjoyed by an established natural
monopolist

= =» entry into the market is naturally blocked




o Control of Essential Resources

< Control over some nonreproducible
resource critical to production
= Professional sports teams try to block the

formation of competing leagues by signing
the best athletes to long-term contracts

(BHEEKEZEE ] =HREEA)

@ Alcoa was the sole U.S. maker of
aluminum(gz) because it controlled the
supply of bauxite (EgEE.4)

@ China is the monopoly supplier of pandas(G
FE)

= DeBeers controls the world’s diamond trade

o L ocal Monopolies

¢ More common that national or
International monopolies

% Numerous natural monopolies for
products sold in local markets

¢ Profitable monopoly attracts
competitors

= Ex: Wireless transmission will break
local cable TV provider.
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o Revenue for the Monopolist

¢ The demand faced by monopolist

= market demand

= The demand curve for the
monopolist’s output therefore slopes
downward

22 This has important implications for
revenues

¢ Remark: Flat demand curve for
perfect competition
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o Demand, Average and Marginal Revenue

$7,000 .........

6’750 R

Price per
Diamond

Z—->O

D = Average

revenue

0 3

4

1- carat diamondsper day

3 diamonds a day = Price ->7000,
total revenue of $21,000

4 diamonds = Price—>%$6,750,
total revenue=%$27,000

Marginal revenue= 27,000-
21,000 =6,000 <Aver age
revenue(=price)

T =Gain-L 0ss=6750-750

Notee MR=AR=Price for
the perfectly competitive

firm
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Revenue Schedule

Max. revenue.

| Next slide depicts thisinfor mation

Revenue for De Beers, a Monopolist
1-Carat Price
diamonds (average Total Marginal
perday revenue) revenue revenue
Q) () (TR=Qxp) (MR=ATR/AQ)
@ ) () =(1) x (2 4)
0 $7,750 0 -
1 7,500 $7,500 $7,500
2 7,250 14,500 7,000
3 7,000 21,000 6,500
4 6,750 27,000 6,000
5 6,500 32,500 5,500
6 6,250 37,500 5,000
7 6,000 42,000 4,500
8 5,750 46,000 4,000
9 5,500 49,500 3,500
10 5,250 52,500 3,000
11 5,000 55,000 2,500
12 4,750 57,000 2,000
13 4,500 58,500 1,500 /
14 4,250 59,500 1,000
[ 15 4,000 60,000 500
16 3,750 60,000 0
17 3,500 59,500 -500

graphically.
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Monopoly Demand and Marginal and Total

Revenue

(a) Demand and Marginal Revenue

_ \%
:
= nit elastic
L 83,750 — N\ — —
o
(2]
E Inelastic
8
0 '\ D = Average revenue
| * Marginal revenue
1 T
16 32 1-carat diamonds per day
| (b) Total Revenue
I
I
$60,000 |—————— =
I
o I
8
3 I
= I
® Total revenue
kel I
I
I
I
I
|
T

T
16 32 1-carat diamonds per day
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o Firm’'s Costs and Profit Maximization

% Monopolist can choose either the price or
the quantity,
© choosing one determines the other!

< Because the monopolist can select the
price,
= Monopolist is a price maker

+ Any firm that has some control over price
IS a price maker

« Comparison: Price taker in perfect
competition
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o Profit Maximization
¢ Profit= TR-TC

¥ Which price-quantity combination
should De Beers select to maximize
profits

& See next slide for the short run
data
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o Short-Run Revenues and Costs for the Monopolist

Short-run Costs and Revenue for a Monopolist
Price Marginal Marginal Average Total
Diamonds (average  Total Revenue Total Cost Total Cost Profit or
per day revenue) revenue (MR = Cost (MC= (ACT = Loss =
Q) (p) (TR=Qxp) ATR / AQ) (TC) ATC/AQ) TCIQ) TR-TC
@ @ B =1)x 2 4 ©) (6) ) ®
0 $7,750 0 - $15,000 - - -$15,000
1 7,500 $7,500 $7,500 19,750 4,750 $19,750 -12,250
2 7,250 14,500 7,000 23,500 3,750 11,750 9,000
3 7,000 21,000 6,500 26,500 3,000 8,830 -5,500
4 6,750 27,000 6,000 29,000 2,500 7,750 -2,000
5 6,500 32,500 5,500 31,000 2,000 6,200 1,500
6 6,250 37,500 5,000 32,500 1,500 5,420 5,000
7 6,000 42,000 4,500 33,750 1,250 4,820 8,250
8 5,750 46,000 4,000 35,250 1,500 4,410 10,750
9 5,500 49,500 3,500 37,250 2,000 4,140 12,250 ¥ Profit max.
[10 5,250 52,500 3,000 40,000 2,750 4,000 12,500 |/
11 5,000 55,000 2,50 43,250 ,250 3,930 11,750 M R=3000 g
12 4,750 57,000 2,000 48,000 ,750 4,000 9,000 M C=2750
13 4,500 58,500 1,500 54,500 6,500 4,190 4,000 -
14 4,250 59,500 1,000 64,000 9,500 4,570 -4,500
15 4,000 60,000 500 77,500 13,500 5,170 -7,500
16 3,750 60,000 0 ,000 18,500 6,000 -36,000
17 3,500 59,500 -500 121,000 25,000 7,120 -61,500
Would not produce ﬂth% M R=2500<M C=3250
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Next dlide provides a graphical illustration of this process.

Monopoly Costs and Revenue

MR=MC at point e

2> Profit ismaximized at e. when 10
diamonds are sold.

Diamond price =$5,250.

Average cost= $4,000

Economic profit= (5250-4000)=$12,500

Profit/lossis measured by the difference
between TR & TC

Dollarsper unit

(a) Per-Unit Cost and Revenue

Marginal cost
Average total cost

= Average revenue

3'2 Diamonds per day

! (b) Total Cost and Revenue
T

$52,5007]

40,0007

Total dollars

15,0001

0
Maximu
profit

| Total cost
m

Total revenue

16

I
32 Diamonds per day
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o Short-Run Losses and the Shutdown Decision

% A monopolist might lose money

= Demand may not be great enough to
generate economic profit in short/long run

= Minimize loss.

¢ In the short run, decide whether to

produce or to shut down

= Price>average variable cost

->Produce

=z Otherwise
-2>shut down

21

o The Monopolist Minimizes Losses in the Short Run

ATC=AFC+AVC

MR=MC at point e,
Q- quantity
p-> price

Thefirm coversits AVC (point c)
It covers making some AFC

The average loss = ab,

Total lose= yellow shaded area

©
|

Dollars per unit

Marginal cost

Average total cost

Average variable cost

Demand = Average revenue

\ Marginal revenue

o

I
I
I
|
|
Q

Quantity per period
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@ Monopoalist's Supply Curve

¢ MR=MC identifies the profit maximizing
quantity, but the price is found on the
demand curve

2 Remark: We can’t determine Demand with
MR

= Ex: f(X) - Can’t determine an unique f(x)

© There is no curve that shows the

relationship between both price and
quantity

¢ No monopolist supply curve!
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o Long-Run Profit Maximization

% The distinction between the long/short
run

= Important for perfect competition

e Firms enter/exit=> erase economic benefit/loss

= If a monopoly protected by blocking the

entry, economic profit can persist in the
long run

+ However, short-run profit is no
guarantee of long-run profit
= Ex: Patent> 20years.

24




o Long-Run Profit Maximization

% A monopolist can increase the
profit/ eliminate the loss in the
long run by adjusting the scale of
the firm

25
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Comparison between Perfect
Competition & Monopoly

¥ When there is only one firm in the
Industry,

& Industry demand=monopolist’s demand
=» the price the monopolist charges
determines how much gets sold

& See next slide

= Assume a constant-cost industry
e ATC=MC —>Flat curve
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o Perfect Competition and Monopoly

Equilibrium:
Perfect competition: ¢
Price: p,

Quantity: Q.

Monopoly: b
Price: p,
Output: Q.

Dollars per unit

Vi)
<
@)
I
>
_|
@)

Quantity per period

O 1 3____ 4

Cc

At Qm, marginal benefit (point m)>marginal cost (point b)

Society would be better off if output were expanded

= Themonopolist restricts output below the level that maximizes social welfare =
Reduced consumer surplus: yellow triangle amp,,

28




Perfect Competition and Monopoly

Consumer surplus
Perfect competition: acp,
Monopoly: shrinksto amp,,

Pm]

Monopolist ear ns economic profit:
shaded rectangle

Transfer from consumer surplus
to monopoly profit

=>Not lost to society

=>Not considered a welfare loss
from monopoly.

R e Sc =MC = ATC

Dollars per unit

D=AR

3

<
Py

7 e e ————

0 Q' Quantity per period
m

Q
o

Consumer surplusreduces more!
Lost the triangle mcb =» the deadweight loss of monopoly
It isalossto consumersbut a gain to nobody.
Thisloss results from the allocative inefficiency arising from the higher price and
reduced output.
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¢ The actual cost of monopoly might be
@ gverestimated or
& Underestimated
by the welfare loss stated above

31

o Why the Welfare Loss Might Be Lower

& If economies of scale are extensive
enough, a monopolist can produce
output at a lower cost than competitive
firms

& If this is true, the price or at least the
cost of production could be lower under
monopoly than under competition

32




o Why the Welfare Loss Might Be Lower

% The welfare loss may overstate the true

cost of monopoly

22 Monopolists may, in response to public
scrutiny and political pressure, keep prices
below what the market could bear (Ex: &E&

INI=(NEERE)

% Monopolist may keep the price below
the profit maximizing level to avoid
attracting new competitors
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o Why the Welfare Loss Might Be Higher

¢ The welfare loss of monopoly may, in
fact, be greater than shown in our

example

& If resources are devoted to securing and
maintaining a monopoly position,
monopolies may involve more of a
welfare loss that simple models suggest




o Why the Welfare Loss Might Be Higher

¢ For example, radio and TV broadcasting
rights :

=2 Use a particular band of the scarce
broadcast spectrum

¢ These rights have been given away by
government agencies to the applicants
deemed most deserving

35

o Why the Welfare Loss Might Be Higher

& Applicants spend millions on lawyers’
fees, lobbying expenses, and other costs
to make themselves appear the most
deserving

¢ The efforts devoted to maintaining a
monopoly position are largely a social
waste because they use up scarce
resources but add no unit to output

& Activities undertaken by individuals to
influence public policy that will
redistribute income to them are referred
to as rent seeking

36
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o Why the Welfare Loss Might Be Higher

% Monopolists have been criticized for

being slow to adopt the latest
production techniques, to develop new
products, and lacking innovativeness

38
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o Price Discrimination

A monopolist can increase economic
profit by charging higher prices to
customers who value the product
more

Ty
wr

1. Charging difference prices to different
customers

2. the price differences are not justified
by differences in cost

called price discrimination

40




o Conditions for Price Discrimination

% The demand curve for the firm slope downward
% The firm is price maker

& At least two groups of consumers with a
different price elasticity of demand

¢ Able (at little cost) to charge each group a
different price for the same product

@ Able to prevent those who pay the lower price
from reselling to those who pay the higher price

(B51LE )

¢ In next slide, customers are divided into 2

groups.
41
* Price Discrimination
(a) Inelastic (b) Elastic
- =
> )
o o
o 0
5 $3.00 1 ——\~ | =
E . :
: $1.50
1.00 LRAC, MC 1.00 LRAC, MC
\we \ o i ;

0 460 Quantity per period 0 5|00 Quantity per period

Let LRAC=MC=1
consumerswith the lower price elasticity pay $3
with the higher price élasticity pay $1.50
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o Examples of Price Discrimination

¢ Businesspeople
&2 urgent demands for travel and
communication

2 less sensitive to price (KB THIE)

¢ Telephone companies are able to
sort out their customers by
charging different rates based on
the time of day

43

o Perfect Price Discrimination

¢ If a monopolist could charge a
different price for each unit sold,

= MR=Price of the last unit sold

= demand curve would = marginal
revenue curve

¢ Call perfect price discrimination
&2 See next slide




Perfect Price Discrimination

A perfectly discriminating
a monopolist maximize profits at
point e
MR=MC at point e
c
>
5 Profit
e ‘ Long-run
2 ¢ average cost
8 = marginal cost
o
o |
Consumer surplus-=> |
Economic profit | D = Marginal
| revenue
|
0 Q Quantity per pépiod

o Perfect Price Discrimination

% Perfect price discrimination gets high
marks based on allocative efficiency

% Monopolist does not have to lower price
to all customers when output expands,
= NO reason to restrict output

¢ Quantity Q = quantity in perfect
competition

46




o Perfect Price Discrimination

& Perfect price discrimination yields
NO consumer SUI’p|US,
22 Benefits consumers derive =
$ paid for the good

# Since the monopolist does not
restrict output, there is no
deadweight loss

47

PR T

¢ ?Eﬁ@*%@%%’patent,iﬁ%ﬁ@ﬂaﬁpatent lawri (&

¢ EHfA R 35 price taker/ price taker.

¢ EfeE A EE deadweight loss of monopoly

& SRERIESR R{E Fdeadweight loss of monopoly
%E%ractual cost of monopolyZ[I{r] &4 =511
MR

3 SEtHH{AIEE price discrimination Kz ELES S

> ShatHA{R[EE  perfect price discrimination
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Homework

¢ 13. Price discrimination

¢ 15. fRER[E]PEIZE monopolist {4 Al
(B Rl jtﬂz

¢ 16. Monopoly of a constant cost
Industry
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